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WEEK 2

UNIT 6/2: Conversation: Where were you? Grammar: Past tense Il (irregular

forms). Reflexive verbs: ses, sis. The second position in Czech sentences.
Locative singular.
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Grammar: past tense



Minuly Cas = past tense

The infinitive of verbs always ends with “t": delat, pracovat, mluvit,
studovat, sportovat, ucit se, vstavat, rozumet, tancovat, varit...

1st step to make past tense: |-form
Drop the -t from the infinitive and add -I, e.g. delat — delal, vstavat —

vstaval, divat se — dival se...
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Gender: |-form + ending (I, la, lo, i)

Different endings are added to indicate gender and number:

singular
délal
mluvil
studoval

David studoval.

délala
mluvila
studovala

Laura studovala.

délalo
mluvilo
studovalo

Dité studovalo.

plural
délali
mluvili
studovali

David a Laura
studovali.
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The 2nd step:

To complete the information of the past tense add the auxiliary verb
byt. The forms for on, ona, to and oni don’t have auxiliary verb
forms!!!

délal/a jsem | did

délal/a jsi you did
délal/délala/délalg ! he, she, it did
délali jsme we did

délali jste you did

délali " they did
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Past tense

— vstavat

— snidat

— obédvat

— veceret

— poslouchat

— nakupovat
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Mate to spravne?

/\/STAVAT
vstaval/a jsem
vstaval/a jsi
vstaval/a

vstavali jsme
vstavali jste

\stavall

~

h aa M

/SNiDAT

snidal/a jsem
snidal/a jsi
snidal/a

snidali jsme
snidali jste

\nldall

N

4

on, ona, to




Mate to spravne?

/VEGERET  (POSLOUCHAT

vecCerel/a jsem poslouchal/a jsem
vecerel/a jsi poslouchal/a jsi
vecerel/a poslouchal/a
vecereli jsme poslouchali jsme
vecereli jste poslouchali jste

\ecerell \oslouchall /

‘ gﬁ MO

on, ona, to my




Past tense: negation

NE + the main verb
nemluvil/a jsem
nemluvil/a jsi
nemluvil/a/o

nemluvili jsme
nemluvili jste
nemluvili
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Past tense: irregular forms

— byt (to be): byl, byla, bylo, byli: David byl doma.

— chtit (want): chtél, chtéla, chtélo, chtéli: Laura chtela sportovat.

— Cist (to read): Cetl, Cetla, Cetlo, Cetli: Filip cetl knihu.

— jist (to eat): jedl, jedla, jedlo, jedli: Klara jedla pizzu.

— Jit (to go, walk): sel, sla, slo, sli: Ucitelka Sla do prace.

— mit (to have): mél, méla, meélo, méli: Studenti méli ¢as.

— moct (can, to be able to). mohl, mohla, mohlo, mohli: Petr mohl

pracovat.

— pit (to drink): pil, pila, pilo, pili: Maminka pila caj.

— psat (to write): psal, psala, psalo, psali: Profesor psal esej.

— spat (to sleep): spal, spala, spalo, spali: Dité o vikendu spalo dlouho.
MUNI
CJV
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Grammar

Learn irregular forms of the past tense: Textbook — page 49, grey box. ONLINE ACTIVITY
Practice irregular forms of the past tense: Textbook — page 50, ex. 6.

Analyze the past tense forms: Textbook - page 50/ex. 7.

Practice with Flash cards: Link



https://wordwall.net/play/29702/131/650
https://quizlet.com/571250978/minuly-cas-irregular-flash-cards/?x=1qqt
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Sentence order

Listen and fill in the gaps and observe the second position in Czech sentence: Link
Practice the second position in Czech sentence: Textbook — page 51, ex. 11.
Listen and underline what you hear: Textbook — page 51, ex. 13: AUDIO LINK
Online activity



https://learningapps.org/watch?v=p5ipxudtj20
https://www.czechstepbystep.cz/coLm4dEPxQE9/uploads/2018/06/CD1_track_59.mp3
https://wordwall.net/play/29702/048/741

Past tense: word order

Auxiliary verbs are placed in the second position in the sentence.

Vecerel [sem v restauraci. X VCera jsem vecerel v restauraci.
Studovala jsem v Irsku. X Minuly rok jsem studovala v Irsku.
Byl [sem doma. X VcCera jsem byl doma. X VCera rano jsem byl
doma. X VCera rano a dneska dopoledne jsem byl doma.
Studenti, kolegové a ja jsme obédvali v menze.

Byl jsi v€era v knihovné? X Kdy jsi byl v knihovne?

UCil j[sem se doma. X V pondeli j[sem se ucil doma.

Divala jsem se na film. X VeCer jsem se divala na film.
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se/si: 2nd person singular

When using reflexive verbs in the 2nd person singular the reflexive
se is contracted, e.g.:
— Jak jstse mel? JSI SE — SES: Jak ses mél?
— Divala jst+se na televizi? JSI SE — SES: Divala ses na televizi?
— UCil ystse o vikendu? JSI SE — SES: UCil ses o vikendu?
— Co jstst dal v restauraci? JSI S| — SIS: Co sis dal v restauraci?

o=
=

=



O =
. =
—
—

—
~—

Locative singular

Study the locative singular: Textbook — page 52, grey box.



The locative singular

Kde? Where?

Bydlim v Brne.

Studuju na univerzite.

Doktorka pracuje v nemocnici.
Nakupujeme v supermarketu.
Petr nebyl ve skole, je nemocny.
O vikendu jsme tancovali v klubu.

prepositions v/ve, na



Lokal singularu (basic rules, check the following
slides as well!)

substantiva (nouns)

hard kons., -a, +E/E, U

obchod +e(é)/u
v obchodé/obchodu

Skola a—e(e)
ve Skole
kino o—e(€)/u
v kiné/kinu

soft kons. (2, §, &, F, ¢, j)

pocitac

restaurace, kancelar

letiSte

nadrazi

+|, @

+ i
na pocitaci

e —i
kons. + i
v restauraci, v kancelari

e(€)—i
na letisti

(7))
na nadrazi



Additional information: Mi

hard kons. + E
D, T.N,B,PM,V+E
K, H, CH, R, G, foreign words + U

v parku, v supermarketu, v klubu
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Additional information: F

A— E

D TNB PMV+E

K—-C
GH->Z
R—>R
CH—-S

zastavka — na zastavce, Amerika — v Americe
Praha — v Praze, Riga — v Rize

opera — Vv opere

sprcha (shower) — ve sprse
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Additional information: N

O — EIE

D,T,N,B,P,M,V+E

-KO, -CHO, -GO, -VO, -UM, foreign words — -KU, -CHU, -GU,
-VU, UM—U

v Némecku, ve épanélsku, v Kongu, v centru, v muzeu, v metru
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Priklady = examples

Kde jsi? - Jsem na univerzité.
Kde jsi byl vCera vecCer? - Byl jsem v kiné.

Kde pracujete? - Pracujeme ve firmé v Brneé.

Kde jsi bydlela minuly rok? - Bydlela jsem v Italii.

Kde jsi snidal? - Snidal jsem v kavarne.
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Locative singular

e Listen and observe the locative case : Textbook - page 52/ex. 1 - Is it true or not? AUDIO LINK

e Practice the locative sg.: Textbook — page 52, ex. 2 + 3.


https://www.czechstepbystep.cz/coLm4dEPxQE9/uploads/2018/06/CD1_track_60.mp3
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Prepositions

e Study prepositions v/ve - na — u: Textbook — page 53, grey box.

e Practice the prepositions: Textbook — page 53, ex. 9.



Prepositions

v/ve + locative

e inside

in a closed, limited
space

continents

most states
towns, villages
buildings, shops

ve 8kole, v Evropé, v Ceské
republice, v Brné, v obchodé

na + locative

® Open spaces,
surfaces

events, activities
some institutions
islands, peninsulas
*Morava, Ukrajina,
Slovensko

na nameésti, na nadrazi,
na party, na obédeg, na
koncerté, na posté, na
policii, na Madagaskaru

u + genitive

e “near’, proximity to
buildings or
confined spaces

e people

u doktora, u zubare, u
kamaradky
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?22?? &
Jsem na leIici. X Jsemyv parku_. N s
Jsem ve skole. X Jsem na univerzite. L0CAL IANGUAGE?
Jsem v kin&. X Jsem na diskotéce. po—y
Jsem v divadle. X Jsem na koncerte.

Jsem na Islandu. X Jsem v Irsku. . e
Jsem na poste. X Jsem v bance. GZECH " <

Jsem ve Skole na konzultaci u profesora.
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Summary

Revise the past tense: Workbook - page 67/ex. 19 + 20.



